;> restart
| Cuando no hay Resonancia
> Ecuacion = diff (y(t), t$2) + 11-y(z) =10-sin(3 1)
2

Ecuacion = % y(t) +11y(¢) =10sin(3 ¢)
t

_> SolucionGeneral = dsolve(Ecuacion)

SolucionGeneral :=y(t) =sin(¥ 11 ¢) _C2 +cos(¥ 11 ¢) _CI +5sin(3 1)

=> Condiciones == y(0) =0,D(y)(0) =0
i Condiciones :==y(0) =0,D(y) (0) =0

_> SolucionParticular = dsolve( { Ecuacion, Condiciones})

SolucionParticular .= y(t) = - i—? sin(\/ 11 t) v 11 +5sin(3¢)

_> DerSolucionParticular := diff (SolucionParticular, t)
DerSolucionParticular .= % y(t)=-15 cos(\/ 11 t) + 15 cos(3 1)

_> plot(rhs(SolucionParticular), t=0..40)
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> Ecuacion = diff (y(t), t$2) +9-y(¢) =10-sin(3 ¢)
2

Ecuacion = d—z y(t) +9y(t)=10sin(3 ¢)
dr

=> SolucionGeneral = dsolve( Ecuacion)
SolucionGeneral .= y(t) =sin(3¢) C2 +cos(3¢) CIl — % cos(31)t
_> Condiciones == y(0) =0,D(y)(0) =0
i Condiciones :=y(0) =0,D(y)(0) =0
> SolucionParticular := dsolve( { Ecuacion, Condiciones})

SolucionParticular :=y(t) = % sin(3¢) — % cos(31)¢

_> DerSolucionParticular = diff (SolucionParticular, t)

DerSolucionParticular = % y(t)=5sin(31¢) ¢

_> plot(rhs(SolucionParticular), t=0..1000)
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;Cuando no hay Resonancia a mayor frecuencia
> Ecuacion = diff (y(t), 1$2) +9-y(t) =10-sin(4 ¢t)
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2
Ecuacion = d—2 y(t) +9y(t) =10sin(4 1)
dr

_> SolucionGeneral = dsolve( Ecuacion)
SolucionGeneral .= y(t) =sin(3¢) C2 +cos(3¢) CIl — % sin(4 t)
_> Condiciones == y(0) =0,D(y)(0) =0
i Condiciones :=y(0) =0,D(y)(0) =0
> SolucionParticular = dsolve( { Ecuacion, Condiciones})

SolucionParticular = y(t) = % sin(3¢) — 17—0 sin(4 t)

_> DerSolucionParticular := diff (SolucionParticular, t)

DerSolucionParticular = % y(t) = 4—70 cos(3¢t) — % cos(4 t)

_> plot(rhs(SolucionParticular), t=0..40)
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